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220 LA EHA 2= 10,000 10,000 0
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CAIOHE I} 526,403 514,469 11,934
XU Al 449,855 439,256 10,599
WEGD NG T2EH X4 65,515 53,791 11,724
SAZNE L2 22(SAYDLHI|2 65,515 53,791 11,724
Sgne I 65,515 53,791 11,724
101 Q1A 27,775 25,912 1,863
04 JBHRERSE A 27,775 27,775 25,912 1,863

oJe3 78,0232 x 123152 = 24,578

Ogsa 2,597

- 203 E 24,578,0009! %4 5% = 1,107

- 20AAYLE 24,578,00091%3.23% = 794

-nges 24,578,000 %1.5% = 369

— AR S 24,578,00091 % 1.05% = 259

~LOIE QAT 24,578,0002%3.23%+8.51% = 68

O=XZE 300,000+ 1% = 300

O 02 300,00020* 124+ 15] = 300
201 Ler2AH] 5,820 3,879 1,941
01 A2 3,420 3,420 3,879 459
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OFANSHAIE &X 4,000,000 %1044 = 4,000
OFQURESHAIE HYIAY 120,0009 * 66JHA = 7,920
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O m=| 515,0002 *2% 1,030
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20208 & 140,938| 124,000 0 0 6,938| 10,000 142,063| 37,740 104,323 A1,125

Al 1,788,974 (1,250,869 | 205,000 0 57,074|276,031(1,404,634| 890,318 514,316 384,340
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